EMER JFA U-159yh—1)—%'2023 BB TLI71)—4'U-15 Div2 (7 %) HIEZx (AIHA) BEAERU-15Yvh—1)—52023 BIRETLIF7)—-U-15 Div.2(FF¥F) W (F1H)
5 A 27 B ®]#%

- YN XfEL Bl 4th o
Gl =3 it F—L&  |m|®kE| F i |En| | F—LEB = A1l A2 WERP | FHNBJIY [7—ILR2nd| RFH |me—swws:| RRG | FNEETE| LR -HES 0 0 - B MR R
3 A 4B(1) RLULEW 13:30 R G 1{olt1]-11]1| 0| BR-HmEH |7—yL22nd won| @] | mrne| ] mon| mm| sm| Bxae] me
3 A 4B8(1) RLUZEWM 14:45 F—YLA2nd | 2| 2| 4] 2] 1|1 RRs Wt ) ) ) ® A A A
5 278 (1) HRILZEM 14:00 FHEIY 1123|—]2]|1]|1]|FHNEe@E+E| BWED 1[o 3]33[1 1128[3 0]00[0 2171[0 1111[0 1111[1 1]I [ ] [ ] 9[15]|15|= 0| 5
3 E 4 Ezj:; FHEEPE 10:45 AFH of2] 2 : 6| 5 | 1 |#2—Fi-wiEd|FHNERTE e 10 2 1 00 05 10 10 00 o5l isl- ol s
s e mEn *E BlE olo|o|-0
B =5 HERE =2 [eeles] it (o] F—L% == Al A2 ath e A R R
A BC ) F—4L Z2nd — [oE=] ¢} [¢) o ° o [¢) °
A 8 B (L) HITIED 9:30 FHEIY olo]lo|—] 2] 0| 2 |sm—FwmEs KR -HEH 3[3 011 9[5 1116[4 1120[0 0122[1 0]03[1 1120[0 1:|3 [ ] [ ] 15[ 23| 11|+ 12] 2
A 1A (L) HWEPFER 14:00 ER-WEH | 2|0of2]-Jo]Jo]o RAH BES - 0 1 40 2 1 0 2 10 2 1 0 2
= FMEIY 15| 23| 11 [+ 12| 2
A 11 B (1) HmEPER 15:15 WA o1 1]=]1]1|o|=FmEmbE| RAF
A B ) — olofof=0
L e [ ] 3]0 30 10 oapro1r o1l
=15 RERA
B =5 REWE 1 Tneles] s ot [mrefws] 714 =& AT A2 4th ° ° 0o ° 0o ° °
4 158 (x) HITIED 9:30 FHEmHhE| 0| 1| 1 |—|13] 8| 5 |#@-—A-#sEd| 7—HLR2nd 2[1 1131[1 5]9 8[3 0100[0 2184[2 1120[0 1140[0 2]5 [ ] [ ] 6 [15]31|- 16] 7
4 A8 B(L) HIFIED 10:45 LR-wEb o[ 1] 1]-]5]2]|3 AF A B e 12 0 4 00 0 6 2 1 0 3 0 3 6 l1sla1l- el 7
5 A14 B8 (8) HUZEW 17:00 FHSIY 5(14]l9|—]1]1]|0|7—4LR2nd HE
3 A21B (1) HRLUZEWM 12:00 WRF olt1]1]-J1]1]0 RAF LR -ErET o[lojo]=0
A B8 ) - [ Il 1 I A A [ A I I A
Gl i Lt —Ls eSS N e BlEEIES — L = A1 S Al ath * * * * : * ° 4 (12| 40|- 28| 8
F £ | % & B EE S A £ 2 0[0 8182[1 4]60[0 B]s 2[0 5]63[3 1]30[0 3]85[2 0]] [ ] [ ]
4 B29B (1) HIFIED 9:30 LR-#mb (1| 2]3]-Jo]o]o FMEJIY | mz—u-mis —_— 0 0 12 00 2 1 0 2 00 31 a |12l a0l- 26| 8
4 A298 (%) HIFIED 10:45 WEP ololo|—] 7] 2| 5 |#m—FwmmEs FNEIY
4 A298 (L) HITIED 12:00 HRAH 1]2]3]-]3]3]o HNFh FHRETE [ 111 111 ] [ 11T 111 11T 111 11T ] olofof-0
6 B3B8 (x) HLUZEM 17:00 FMEEhE (3| 1] 4]|—-]o]o|o|F7—YLR2nd HE
A B ) — o o o o A [¢) °
- i3 Bz 2 0 00 2 0 5 0 0 0 8 0 0 1 16 (36| 4 [+ 32| 1
248 EI‘S = 1
B =5 ol F—L% g #¥ 5 i || Y| F—LA = A1 A2 dth N 7[5 010 2[2 o:|0 8[6 010 6[1 2]2 0[0 0:|0 3[5 111 0[0 0]] [ J [ ] 1636l alsag 1
A6 B (L) RLZEM 9:00 FHEmbhE | 2 | 1| 3| 2] 1| 1| BER-WER | FHEIY
A6 B (LX) RILZEM 10:15 IS ojojlo]-]2] 1|1 FHBIY |ER-HEs [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] ofo]|of=0
A6 B () ARLZBEM 11:30 |[shp-—#m-miEs| 2 | 6| 8] 0] 0| 0| 7—HLR2nd| MHWEF
A BC ) R g|lo|8]—]o]ofo HNFH A ° ° A A o °
A B ( ) - 10 0 1 1 2 13 00 10 0 2 6| 8]12|- 4] 6
X Bz 1[o 1]1 [0 1] [1 2] [2 0:|3 [0 0] 2[1 0] [0 0:| [ J [ ]
=153 =15 HEFE — — X3 4th KRAH 6|8]|12[- 4|6
F—Lg |FE| sk 5 Bt |En| gk F—LB A1l A2
A21B(RA) LR 9:30 7—HOLA2nd | 0| 0| O|—=| 5] 2| 3| GBR-HmP HRAH [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] ofo]|of=0
A218(A) RR® 10:45 [wm-—#-wEs) 0| 0ol o]—] o] o] o HRAH LR-Hmsh
A2t B(R)| FHNEMTEHE 9:30 R of1]l1]-]38]o]3s FHEIY HNF A L] @) ] L] (] ]
A B ( )| FHEEDE 10:45 HNFH ofolo|—] 8] 8| of=xfembE| WEH 10 11 10 80 08 01 21 10| 19| 21 |- 2| 4
a5 - L, rfel, Jds|el, Jlofel, JJoply 1ol 12 S S I B O I B
S EE FHBARE 10]19]21|- 2| 4
B =15 HERE ~ - *E 4th
ToLE memn ] LB avey 7oLA - CoT(0 30 1|t 1 orn S O T 1 e
5 A27 8 (1) ALZEH 9:30  |w2-—memaEsp| 0 [ 0ol O|—] 1] 1| 0| ER-WEF | FHNEIY
5 A278 (1) ALBEAM 10:45 RFH 1]l1]2]-]6]4]2 FHMBIY | no—xn-mas A o} o ° o o [
5 A278 (1) HRLUZEWM 12:00 WS 1{2]13]|-]l2)1|1]|7—YLR2nd| AFH 1[1 1]13[1 0]05[2 0101[0 2]5][1 0102[2 0102[1 z]3 [ ] [ ] 13 15| 9 [+ 6] 3
5 E 14 E E EI; EITEZ=]:0] 9:00 KA 1] 1] 2 : 00| 0| FMEEFTSE HE B 00 2.0 3 0 13 00 00 11 alislols 6l s
e e *HE BIE ofofol-0
A% =4 REWE % Tnelas] it [me[ee] F—Ln2 £ A A2 ath A [ 10 ]
A BC ) -
A BC ) — olofof-o0]9
5 - (10 10 10 10 1|0 IT(0 10 1 [ ]
0 ofofo]=0]9
A BC ) -
A B ) - olofof-0
s = (10 10 Iy 10 1|0 Iy T(0 1] [ ]
BB 215 SRARs ik E Ll 4th
' = Sl S NP ] Py g st [m#ey] 7Lz A1 A2
A BC ) — olofof-0]9
FEE—— — (- 1y 10 10 10 10 I(0 (0 1|0 1
0 ofofo]=0]9
A BC ) —
A BC ) - olofof=0
FECTa - A Tt A A A A I




EMEE JFA U-159yh—1)—%'2023 BB FLI71)—4U-15 Div.2 (B %) BiIEk (R E0) BHERU-154vH—)—52023Z R IBETSL 27— U-15 Div.2(FA¥F) Emx (RH)

HERRE (30—5—30) 11 B 20 B B#&E
=153 =15 HEmFE ik FE L 4th BT~ 2B A A RS
F—Lf |EE| s E i |En| | F—LEB A1l A2 WEm | EHMBJIY [7—oLr2nd| RFEH |sz—sesss| RRG | FHeENE|GER-HED 0 0
108 78(x) HIFIED 15:00 RSP olojo|—]2]2]|0| LBR-HEP HE wnsn| 18| s | mm| i e | 1@ | s | e e
11 A198 (B)| WEPEHK 12:30 F—H9LA2nd| 2| 3|65 |—]1]0]1 ks W ° [¢) o ° A A A
9 B16 8 (1) HITIED 12:00 FHEIY o1 1]=]3] 1| 2|=FmEmbE| RAF 1[o 3]33[1 1128[3 0]00[0 2171[0 1111[0 1111[1 1]I [ ] [ ] 9[15]|15|= 0| 5
A B( ) AFH ofo]o|—] 8] 8| 0 |wB—*kintmiEs e 10 2 1 00 05 10 10 00 5126l 29]- 3l6
A B ) - ° ° o ° o ° °
o _ *TE EIE 0 4 0 1 8 0 0 2 10 0 1 0 2 6|11]14[- 3] 6
GEy o stk F—LB  |En| s 5t Bt A || F—LB — A1l A2 ath 0[0 0140[0 1128[0 0]0][1 0122[1 1]]0[0 2130[0 0:|2 [ J [ ]
A B( ) 7—YLZA2nd| 8| 0| 8]—-]0]0]|oO AFH [¢) e} ) ) o o )
9 A23B (%) HIFIED 9:30 FHEIY 52 7]—-13]| 2| 1 |5m—%nwEssnemes 3[3 011 9[5 1116[4 1]20[0 0122[1 0103[1 1120[0 1:|3 [ ] [ ] 15[ 23 [ 11 [+ 12] 2
108148 (1) HIFIED 9:30 LR-wmb | 2|3 5]|—-]0o]o]|o RAF PR T 0 1 4 0 2 1 0 2 10 2 1 0 2 I
10A28(H) FHES™ 9:30 WERH ofolo]|—|3]|1]| 2|FmembsE HE o o) o o) o ° o
—— W 1y o) U7 ool ety Teely oo s ey i U T P
=13 =15 HERE TE 4th
F—LB ek F B ||| F—LA A1l A2 ° ° o ) o ° °
108 78(L) HITIED 9:30 FMEEDPE| o | 1| 1]|—]| 4] 1| 3 [wn—Fn-mEs| FINEIY 2[1 113 1[1 5]9 8[3 0]0 0[o 2184[2 1]2 0[o 1140[0 2]5 [ ] [ ] 6 [15]31|- 16] 7
A B ) LR-wEb | s|o]8]-]ojofo AF e 12 0 4 00 0 6 2 1 0 3 0 3 16la7lasl- sl s
108 78(L) HITIED 10:45 FHSIY 211 ]3|=]ojofo|7—HLRond| HHEH [e) ° o A o ° °
1087 B8(x) HITED 12:00 R 11l 2|—-]1]o]1 RAT F—9LR2nd 10 0 2 8 0 2 3 2 0 0 3 2 1 10| 22|14+ 8] 4
T - o[, ol 110 sly ol ooy STy Tty s 1 1)1 ]
A 215 AR S N— +E i 4th ° ° ° ° “ * °
F—L% 3| skl & B ||| F—LA A1l A2 0[o 8]3 2[1 4:|6 0[o B]s 2[o 516 3[3 1:|3 0[o B]s 5[2 o:|1 [ ] [ ] 4112(40]|- 28] 8
MANMB(L) LR 14:00 LER-#wmb | 1|o]1]—-]2]1]1 FHEJIY WERP —_— 00 12 00 2 1 0 2 00 31 ali2] o6l sd
108148 (L) HIFIED 10:45 WEP ol 1] 1]—12] 2| o |mm—FwmEs KR-HEH [ ° [ [ ° ° °
A B(C ) BRAF g8lol8]|]—]o]o]o AF 0[o 8180[0 8]80[0 818 0[0 8180[0 8180[0 8180[0 8]3 [ ] [ ] 0| 0]56]|- 56|10
10 A 14 B (1) FHNEETE 9:30 FmeEmhE (3| o] 3|—-|1]o| 1| 7—9LR2nd HE 00 00 00 0 0 00 00 00
A B( ) - o (¢] o o A [e) [ ]
P A REAL X EES 2 0 00 2 0 50 00 8 0 01 1636 4 |+ 32| 1
B =5 s F—L% g #¥ 5 i || Y| F—LA = A1 A2 dth N 7[5 010 2[2 o:|0 8[6 010 6[1 2]2 0[0 0:|0 ]3[5 111 [0 0]] [ J [ ] 26| 58| 21 |+ 3| 3
10821 B(x) HIFIED 9:30 FMEFEDPE | 1| 1| 23] 1| 2| BR-WEPR |so—snmes o ° A o ° o °
10 A 21 B(x) BRAF 9:30 BRAF olojo|—]3]2]1 FHEJIY HE 2[2 0113[2 5]74[3 2148[8 o:IO 0[0 1]24[1 0]11[0 1]2 [ ] [ ] 10| 22| 17{+ 5] 5
10821 B (1) HITIED 1045 |m-—swm-miEs| 3 | 1| 4|—| 4| 2| 2 | 7—YLR2ond |THBEGTE 01 12 12 00 01 31 11
A BC ) R g|lo|8]—]o]ofo HNFH A ° ° A A o °
—— : Lo Vel Jefely 1l JJefel oo L dolly e U T T
B =5 HERE = — —— 3 4th &R 12 21| 29(- 8] 7
F—L% 3| #¥| & B ||| F—LA A1 A2 ° ° [ e) e} ) )
10821 B(x) HIFIED 13:00 |s-—A&w-@wiEs| 0 | 1| 1] 2] 1| 1| BR-HED HE 1[o 1120[0 2]31[0 2158[8 0102[1 010 l[1 0120[0 z]5 [ ] [ ] 6 [13]|17]- 4|7
A B( ) RAF ofojo]|]—-]8]8]|0O FHEJIY 11 0 1 13 00 10 0 2 0 3
11 A198 (A)| HEEPFER 10:45 R ofolo|—=] 2] 1] 1|7—9LR2nd| EAH A ° o o ) ° o
11 A19 8B (B)| HWEPER 9:30 RNt 1{olt1]-]l2]o0]| 2| =xnEmbE|7—L22nd 10 11 10 8 0 0 8 0 1 21 10(19|21(- 2] 4
PR - L, rfel, Jds|el, Jlofel, JJoply 1ol 12 S S I B O I B
5 = FHBEDE 25( 41| 31|+ 10] 4
B 25 | Hamm . S— % e ath ° ° ° ° * ° *
F—Lg& w5 B ||| F—LA A1l A2 3[1 0]03[1 0113[3 0]18[8 0]01[0 1142[0 1]I 2[1 1]3 [ ] [ ] 15[ 22| 10|+ 12] 3
"MANBCLE) RR® 9:30 7—9LA2nd| 2| 0] 2| 3] 1| 2| BR-wmEP HE 20 21 0 1 0 0 13 20 12
1A 4B(x) mELIGE 9:30 Wi —Am-mEsl o o]l o|—] 2] 1] 1 BRAF FMEIY A o o ° o o )
1A 4 B(x) ®LIE 10:45 WS ololo|—-]4]4]0 FHEJIY RESH 1[1 1]13[1 0]05[2 0101[0 2]5][1 0102[2 0102[1 z]3 [ ] [ ] 13 15| 9 [+ 6] 3
A B(C ) RF ojlo|lo]|—-]|8]| 8| o|=xmeEmtE B 0 0 2.0 3 0 13 0 0 00 11 a1l 30l 161+ 2| 2
A B ) — o ° ) o f¢) o o)
am B *HE BlE 20 11 12 8 0 10 2.0 11 18|24 7|+ 17] 2
B =5 HERS F—LB  |m|®E| F B |En| | F—LEB £ A1 A2 ath 2[o 0101[0 1]23[2 0]28[0 0]02[1 1]15[3 0]03[2 1]2 [ } [ ]
A B(C ) -
s — - SN O A RN N S N N N O
FRENE — 0 ofo|o]=0]9
— L = SN A RN N S N N N O S A
B =5 HERE =2 [eeles] it [me|ey] F—L% == AT A2 ath
s — - SN AR N S N N N S N
FEENE — 0 ofo|ol=0]9
A BC ) - ofo]|of=0]s
PR - A Tt A A A A I




